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1> A=1.
1
2> B=2.
2
3> A=3.

=ERROR REPORT==== 26-Sep-2007::14:13:55 ===
Error in process <0.30.0> with exit value: {{badmatch,3},[{erl_eval,expr,3}]}

** exited: {{badmatch,3},[{erl_eval,expr,3}]} **

Joododdooon



oo

HREREREREREEN

loop(0) -> ok;

loop(N) ->
jo:fwrite("~w~n", [N]),
loop(N - 1).
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loop(0) -> ok;
loop(N) ->
loop(N - 1),
lo:fwrite("~w~n", [N]).
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erlang:spawn
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erlang:send
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erlang:receive
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Pid = spawn(Func).
P2->P10O0000O000O0
erlang:send(Pid, hello).
Jood
Pid ! hello.
P3I->P1O00O0O0OOOOO
net_adm:ping('nodel@192.168.1.1").
{Pid, 'nodel@192.168.1.1'} ! hello.
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** exited: {badarith,[{sv,loop,1}]} **
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** exited: noconnection **
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** Node 'nodel@bento.klab.org’ not responding **
** Removing (timedout) connection **

** exited: noconnection **

net_kernel:set_net ticktime/1(U 0000060000 OOOOO
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http://www.erlang.org/

Programming Erlang
http://www.pragmaticprogrammer.com/titles/jaerlang/






